Chapters, 1&2: 1-The nature of Economics 2- Scarcity and World Trade-Offs.

I- Economics is the study of how people choose to use their scarce (limited) resources to satisfy the unlimited wants.                                                                                             That is the study of how people make choices to satisfy their wants. Scarcity implies the necessity of making choices. Therefore, choices that individuals and societies make in response to scarcity are the subject matter of economics. Why scarcity? Because human wants and desires are greater than the available resources. For human wants include food, clothing, shelter, health care, entertainment, bridges and highways, and so on. Wants vary greatly among individuals and overtime for the same individual. That is people may value things differently. For example a football ticket my worth $20 to one of us and nothing to others. Wants can be different because of cultural factors. That is societies promotes through advertising promotes to modify tastes, certain images of the life. 

In short, any economic system has to solve the three central coordination problems that exist. Those are the following questions.

1- What and how much to produce?

2- How to produce it?

3- For whom to produce it?

Resources or factors of production: are the inputs used to produce goods and services that society wants. To test of whether a resource is an economic or a free resource is price. 

Scarcity and world of trade off: The problem of economic scarcity applies to all economic systems, regardless of their level of development.                                    Scarcity forces individuals and societies to make choices because it is impossible to have enough wealth or resources to satisfy every desire by nature. 

Resources or factors of production: inputs used in the production of other goods and services.

1. Land: Natural resources and all the gifts of the nature (water resource, minerals, timber, ….) 

2. Labor: The physical and intellectual services of people, including the training, education, and abilities of the individuals in a society. 

3. Capital: - Physical capital: all manufactured resources that are used for production, such as machinery and equipment that are used in production.

                 -Human capital: the accumulated training, experience and education of the workers.

4- Entrepreneurship: a type of work that organizes, manages and assembles the other resources to make business ventures. An entrepreneur is also a risk taker in business ventures without knowing the outcome( loss or profit). He/ She is an innovator who introduces new products, new productive techniques, and new forms of business organization. 

Resource payments: rental income for the land; wages for the labor services; interest income for the capital; and profit for the entrepreneur. 

 II- Economic Reasoning:    

Rational-self- interest: A key economic assumption is that individuals, in making choices, rationally choose alternatives they think to be in their best interests. Rational means people will try to make the best choice they can under the given circumstances. In other words, the assumption is that people act as if they are rational which mean that they do not intentionally make decisions that would make them worse off. Self-interest does not mean that individuals are selfish but just they are pursuing their goals that will make them better off. In fact, people might not know certainly which alternative would be the best for them, but they select the alternatives they expect will yield them the highest satisfaction possible. Therefore, choices are guided by rational self-interest that requires both time and information.

However, the decision of making a choice is based on weighing marginal costs and marginal benefits.  That is if the marginal benefits exceed marginal costs of doing business then do it, if not stop it.  That is if the expected additional benefit of doing business is greater than the expected additional costs of doing that business, then you should do it.  In this context, the sunk costs or fixed costs are not part of that decision. What does matter is that the cost that changes with the change of output (variable costs). This part we will see more in later chapters.

· Opportunity cost is the basis of cost benefit economic reasoning. 

Analysis of economic choices or evaluating economic alternatives: 

Consider, the cost involving in selecting one alternative over the others.

Choices about what goods and services to produce, how to produce them, and for whom to produce them

Choices, scarcity, and opportunity costs: the value of the second best alternative forgone when an a choice is made.  Opportunity cost is the basis of cost / benefit economic reasoning.  That is opportunity cost must be less than the benefit of what you have chosen. 

 What is the best alternative that you give up to attain college? Suppose a person was making $20,000 a year and decided to go to a college. Now He/ She is only working just a part time job that pays $8,000 a year and paying $4,000 a year, as tuition. What is the opportunity cost? 

The opportunity cost = $20,000 - $8,000 +$4,000= $16,000. However, if you find attending college is pleasant than full-time job then the in money terms understates your opportunity cost of attending college.

One the other hand, if you find attending college is pleasant than full time job, then the cost in money terms overstates your opportunity cost of attending college, therefore, calculating opportunity cost requires time and information. Therefore, choices are made based on the expected opportunity costs, not actual costs. People rationally choose the alternative that provides the highest expected net benefit. To acquire information about alternatives is often costly and time consuming. Sometimes people make choices based on limited or even incorrect information.                                                                                                      The opportunity costs are subjective because each person decides the value of the forgone alternative.

-  Market forces and economics:  Market forces allocate resources efficiently by using price mechanism. The invisible hand is the price mechanism, which guides resources to their best users. That is a price increase when there is shortage and price decrease when there is a surplus and that will clear the market. 

III- The difference between micro and macro is that micro studies the behavior of individual consumers, household members, and producers (firms). That is decision making taken by individual consumers and producers. For example, the demand and supply for oranges, or apples, or computers, and their related prices. Macroeconomics is the study of the behavior of the economy as a whole. In fact, it deals with the economy of the whole nation such as changes in unemployment, the general price level (inflation), Business cycle, and the national income (economic growth). That is a macroeconomic instability phenomenon.

For example, Macroeconomics concerns the demand and supply for everything produced in the economy and not the demand and supply for chewing gum or demand and supply for pizza; the average price level of all products sold in the economy but not the price of floppy disks, or the price of Pepsi; the consumption by all households but not the consumption by your family or my family; the investment made by all firms in the economy but not the investment by General Motors or IBM computers. Therefore, Macroeconomics relies on microeconomics because all aggregates are made up of individuals and firms.

IV- Economic institutions: The development of good institutions is essential to the development of any nation. For example private firms, corporations, governments, and cultural norms are considered economic institutions. The way institutions work may differ among nations due to their historical, cultural and political backgrounds.

V-THE ROLE OF THEORY: Economics, as science, is a social science in which economic theories or models are developed and used to help in understanding, explaining, and predicting economic events.

Every economic model is based on assumption. In short, economic models are simplifications of realty to make predictions about the real world. In fact, a good model or theory is useful if it yields usable predictions for the real world. Models relate to the way people act in using limited resources and not to the way they think. 

Therefore to study economic problems, economists use theoretical investigation, that is scientific method. 

There are 4 steps involving in this process.

Step 1: Define and identify the problem under study (the variable under investigation). That is to define the key variable that is relevant to the theory. The variable takes different values such as the price or the quantity of a product.

Step 2 : the assumption of "other things constant" which is ceteris paribus. That is you isolate the effect of changes in one variable on another by assuming all the other variables will remain constant. For instance, the price of a certain product, let us say, coke is influenced by its own price and some other variables such as consumer income, tastes, the price of the substitute products( Pepsi) but assume the later variables are constant. 

Step 3: Hypothesis: is a theory that describes how variables are related to each other. That is a defined statement about the relationships among key variables. For instance, if the price of a certain commodity goes up, other things constant, the quantity purchased will decline. 

Step 4: The validity of the theory or model (i.e. to test the model): either you accept it or reject it.

 VI- Types of economic analysis:

Positive economics (or economic theories) VS Normative economics (economic Policies).

It deals with what is, was, will be and predicts a testable economic relationship.               It is empirical or statistical facts in nature. It is value-free of judgments.                            It provides explanations and predictions for economic facts and events. It can be proved of disproved by using statistical facts. It is independent of normative economics. For example, the unemployment rate in European Countries is higher than that in the Unites states. Or if tuition is increased, enrollment at the University will decline.

Normative economics: deals with what ought to be (should be). It involves value judgments about economic policies. For ex. European Countries ought to undertake policies to decrease unemployment rates. Or tuition should be lowered at GSU so that more students will have access to education. It is subjective. It is an opinion, which can not be shown to be true or false by using facts. It provides guidelines for policies to maximize the social welfare of the society. It is based on ethical or moral principles and therefore can not be supported by scientific facts. 

In chapter two we are dealing two things: Production possibility curve and the nature of different economic systems that exist. 

Production Possibilities Curve (PPC) : A curve that shows all combinations of goods that can be produced by using available resources.

Assumptions: 1- Resources are fully employed; 2 products

2- There is a specified time period 

3- Resources are fixed in both quantity and quality 

4- Technology does not change.  

 The PPC shows the trade off or the opportunity cost between two things. The slope will tell you the opportunity cost of one good in terms of the other.

If the curve is bowed out, that means concave then it does not have constant trade-off of one good for another. The PPC is assumed to have a particular shape- bowed or concave from the origin.  Why?  Because some resources are better suited in the production of certain goods than in the production of other goods. This shape reflects the fact that resources are not homogeneous. That is some are specialized to the production of particular goods and services. When such resources are transferred from the production of good A into the production of good B, this implies less productive, and less specialized resources are applied to production of B and hence the result is increasing opportunity costs.  A movement from one point to another on the PPC shows that some of one good must be given up to have more of another. Therefore, the trade-off between two goods, say, computers and televisions along the PPC is not constant. Moving from one point to another on the PPC means giving up some of one good in order to have more of the other. Any point outside the PPC, such as K, is unattainable in the specified period. Any point inside, such as T, is attainable, but represents an inefficient use of resources. Efficiency means producing the maximum output by using the given technology and resources.

Put the graph here.

The law of increasing opportunity cost: As more resources are shifted from producing one good to producing another, the opportunity cost of each additional unit of the second well increases. The law of increasing relative costs is because of the fact that resources are not perfectly adaptable for alternative uses.                                                                    If nation’s PPC gets more bowed out over time, this means that resources have become more highly specialized.

If the opportunity costs are constant, then the production possibilities curve is a straight line. That means the slope of a linear curve does not change from point to another. This is to say that production possibilities curve would be a straight line if all resources were perfectly adaptable for alternative uses. This is special case.

. Over time, with improvements in technology and augmentation of resources including the capital stock, the PPC can shift outward providing society with greater choice. This shifting is a graphical representation of economic growth. However, shifts not necessarily equiproportional, since a technology advance seldom affects all sectors of the economy equally. Moreover, the PPC may shift inward if there is war or a bad weather or deterioration in technology, or even the depletion of natural resources.

If more inputs are available for good X only, the PPC shifts out along the X-axis only.    If more inputs are available for good Y only, then the PPC shifts out along the Y-axis. Economic growth can be achieved in a PPC diagram by shifting the PPC out. 

Absolute advantage: The ability to produce something with fewer resources than other producers or nations use. In fact, according to Adam Smith, trade between two nations is based on absolute advantage. That is when one nation is more efficient than another in the production of one commodity but is less efficient than the other nation in producing a second commodity, then both nations can gain by each specializing in the production of the commodity of its absolute advantage and exchange part of it. 

A nation has a comparative advantage in a product whenever that nation can produce at lower opportunity cost than can another nation. Comparative advantage is always relative. Division of labor refers to assigning different workers to different tasks. When nations specialize in their areas of comparative advantage and then trade with the rest of the world, the result is that the average standard of living in the world will go up. Suppose a nation wants to produce two goods, which are X and Y and the information is given in the following table.

Units of good X 


Units of good Y

50 0

40 5

30 10

20 15

10 20

0 25

Answer the following questions by using the above information.

1-Plot the production possibility curve.

2-What is the opportunity cost per unit of increasing the production of good X from 20 to 30? From 40 to 50?

3-What happens to the opportunity cost of producing goof X as the production of good X increases?

4- What is the opportunity cost per unit of increasing the production of good Y from 10 to 15? From 20 to 25?

5- What happens to the opportunity cost of producing good Y as the production of good Y increases?

6- Given this production possibility curve, is producing 26 units of good X and 13 pounds of Y possible?

In this chapter 2, we will discuss different economic systems that exist.

The economic system of any nation must coordinate individuals’ wants and desires with the existing resources therefore any economy in the world has to answer the three central coordination problems.

1- What and how much to produce? 

In Capitalism, firms produce goods wanted by the people guided by profit motivation whereas in socialism in practice central planners decide what to produce.

2- How to produce it?

In Capitalism, firms decide how to produce efficiently guided by their desire to make a profit whereas Socialism, the central planners will decide how to produce

3- For whom to produce it?

In capitalism, distribution of goods and services depends on individuals’ ability and inherited wealth whereas in socialism distribution is according to individuals’ needs as determined by central planners.

I- Capitalism is an economic system in which individuals own productive resources. That is it is based on private property rights and market in which individuals will decide what, how and for whom to produce.  Prices are determined by supply and demand.  Resources are free to move where profits are the highest.

Risk takers are rewarded by higher profits.  Government is limited to provide certain public goods, and legal system and protect property rights.

II-Socialism in theory, is a system in which society decides what, how, and for whom to produce. That is it is a system in which workers are motivated to contribute to the community interest rather than working to one’s self interest.  It is based on individuals’ good will toward others and not to their own self- interest.

 Socialism in practice is was the former Soviet style system, in which the central unit coordinates the problems of what, how, and for whom to produce.

II-Welfare capitalism or mixed economy is a system in which the decision about how resources should be used is made partly by the private sector and partly by the government sector.  In recent years you can argue that there are only one type of economic system, the mixed economy. However the degree of their practice could be different.  For example, the government share of national output, in percentage term, is above 60%, and next are France and Italy while U.S government share of the national output (in percent) is around 45% and Japan around 34%.
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